Newport €500 Solenoid PCB Disassembly Guide ID: 134020 - Draft: 2020-07-02

Q IFixiT

Newport €500 Solenoid PCB Disassembly

This guide will show how to replace the solenoid PCB in the Newport €500 ventilator.

Jet pump
" cable f
assembly 2
- ..-""Jf Solenocid PCB
.:12..
.‘MH . ; -
il H‘\-\\‘_ sl
& ' 5 *
*Ej;}' S L7
. | Solenoid SUE:‘M]
= Washer (4]
= cable 1 = =
12 connector Y %;:eﬁlij assembly © ] X :_L
J1 connector T \ ,--'—‘ﬂ‘ ]
) o -~ gk 4 &
Solenoid f E.Tf g 4 (este . 3
cable panel o .9 [ | o a5 L
o - i ARRES T
Solenoid - . *:h“..a:{’""
cable gasket (2) reo ‘H
&
& -
Preumatic 5 | ] f.?'
box assembly =T
A f ~
J - CR \{ﬂ\
. ; - - - 2 3
G s gl

This document was generated on 2020-11-28 08:07:09 AM (MST).

© iFixit — CC BY-NC-SA www.iFixit.com Page 1 of 14



Newport €500 Solenoid PCB Disassembly Guide ID: 134020 - Draft: 2020-07-02

INTRODUCTION

This guide will cover how to replace the solenoid PCB if it no longer operates as intended. Be sure to
handle with care when unplugging cables and wires as to prevent any further damage and new
replacements. There are some extra helpful tips that can be found in the user manual on page 67.

TOOLS:
Torque Wrench (1)
Phillips #0 Screwdriver (1)

This document was generated on 2020-11-28 08:07:09 AM (MST).
© iFixit — CC BY-NC-SA www.iFixit.com Page 2 of 14


https://pdfslide.net/documents/newprot-e500-service-manual.html
https://www.amazon.com/TEKTON-24335-2-Inch-ft-lb-13-6-203-5/dp/B00C5ZL0RU/ref=sr_1_4?s=power-hand-tools&ie=UTF8&qid=1487800135&sr=1-4&keywords=torque+wrench
file:///Item/Phillips_0_Screwdriver

Newport €500 Solenoid PCB Disassembly Guide ID: 134020 - Draft: 2020-07-02

Step 1 — Newport €500 Top Cover Disassembly

Top Cover e Place device so that the top cover is
Exhalation
facing you.
Hinge 2 e Open the top cover.
&\ Left slide y /’:f?‘:
panel P / //’/‘
o ;ff//f /
y
[‘::ersfe)r @ ;{ P v'j?,/f/////
N - /”///’/\ Top cover
‘,3"_ ’ //,// of GDU
h < S)’:Z:;g I;;‘osition)
Figure 4-2. Removal of the Top Cover
Step 2
Top Cover e Remove the four hex nuts and lock

Exhalation

washers (two at each hinge) that
secure the cover to the hinges on
the left side of the pneumatic box.

Hinge (2)

Left side |

/panel - //j////'

o 1
~
[
e
)
Hex nut (4) ? o >
Lockwasher (4) [ P
o7
<
3 o Top cover
®iL— of GDU
1~ (shown in

rotated position)

Figure 4-2. Removal of the Top Cover

This document was generated on 2020-11-28 08:07:09 AM (MST).

© iFixit — CC BY-NC-SA www.iFixit.com Page 3 of 14



Newport €500 Solenoid PCB Disassembly

Step 3

Top Cover

Exhalation

Hex nut (4)
Lockwasher (4)

Top cover
of GDU

(showniin
rotated position)

Figure 4-2. Removal of the Top Cover

Guide ID: 134020 - Draft: 2020-07-02

e Remove the cover and set aside.
Retain hardware for re-assembly.

Step 4 — Newport €500 Exhalation Module Disassembly

Exhalation Module

Outlet boot
(remove prior to _
removing module)

Exhalation
module

Disconnect
tubes from
exhalation
valve

Disconnect two tubes
from flow sensor
[}

This document was generated on 2020-11-28 08:07:09 AM (MST).
© iFixit — CC BY-NC-SA

www.iFixit.com

e Pull up and remove the flexible
rubber exhalation outlet boot (push
fit).

Page 4 of 14



Newport €500 Solenoid PCB Disassembly Guide ID: 134020 - Draft: 2020-07-02

Step 5

e Disconnect the tubes from both
sides of the flow sensor and the two
tubes from the exhalation valve.

Disconnect
tubes from
exhalation

Disconnect two tubes
from flow sensor

Step 6

Exhalation Module . .
e Pull the exhalation module straight

up to remove it from the GDU.

Outlet boot
(remove prior to
removing module)

This document was generated on 2020-11-28 08:07:09 AM (MST).
© iFixit — CC BY-NC-SA www.iFixit.com Page 5 of 14



Newport €500 Solenoid PCB Disassembly Guide ID: 134020 - Draft: 2020-07-02

Step 7 — Newport €500 Air and Oxygen Flow Sensors Disassembly

e Remove the 2 screws and washers
securing the manifold/mixer
assembly

Step 8

e Slide the manifold/mixer assembly
forward to disengage the flow
sensors

This document was generated on 2020-11-28 08:07:09 AM (MST).
© iFixit — CC BY-NC-SA www.iFixit.com Page 6 of 14



Newport €500 Solenoid PCB Disassembly

Step 9

Servo vabre
catie S
asembly ()

Step 10

Servovalve

cable
assembly (2)

This document was generated on 2020-11-28 08:07:09 AM (MST).

© iFixit — CC BY-NC-SA

www.iFixit.com

Guide ID: 134020 - Draft: 2020-07-02

e Gently pull each flow sensor straight
out from the servo valve, (the flow
sensor push-fits into the servo valve
port).

e Disconnect the flow sensor cable
from its 10 pin connector at the
underside of the flow sensor PCB
and lift out the flow sensor.

Page 7 of 14



Newport €500 Solenoid PCB Disassembly Guide ID: 134020 - Draft: 2020-07-02

Step 11 — Newport €500 Pneumatic Panel Disassembly

M4 Phillips screw e Remove the screw and washer that
M4 lockwasher . .
secure the exhalation manifold
Manifold .
adznplt:r \ 3 __~ M4 Phillip SUppOI’t to the pneumatIC panel
& ‘ ;] M4 lockwi
H o
@ |
ol -.
- ( ) A5
: \ Heater
base
Step 12
:ZEIE:" el B« .~ M4 Phillips screw (5) i i
, R g e Pull up on the exhalation valve guide
" | ZS S block to remove it from the
. ® Exhalation H
E Py ot S pneumatic box.
s "i\" /
[ ")-/H Q?nmmahcmnei
qudebiock
ot
[
\S
This document was generated on 2020-11-28 08:07:09 AM (MST).
Page 8 of 14

© iFixit — CC BY-NC-SA www.iFixit.com



Newport €500 Solenoid PCB Disassembly

Step 13

™ maphi lips screw
M4 lockwasher

( o

Manifold

adapter T~ ~ M4 Phillips screw (5)
L M4 lockwasher (5)

' Exhalation

support block

AT

rd \ 97

&7 ~5 \
{ f Pneumatic panel
‘.‘\;._"}‘ -
Dual heater

\ assembly

Heater
base

Exhalation valve

guide block
Heater wires
Manifold i -
Lani
adapter \_ 3 / M4 Phillips screw (5)
L M4 lockwasher (5)
- 0
= )
] @
b i N 5 » Exhalation
5 [oom support block
\ L= Je -
4 \~—/ A\
- |
=
{ C T i
Dual heater
assembly
Heater
base
Exhalation valve
guide block
Heat
Heater wires )
Y
St

This document was generated on 2020-11-28 08:07:09 AM (MST).
© iFixit — CC BY-NC-SA

www.iFixit.com

Guide ID: 134020 - Draft: 2020-07-02

e Remove the standoff and five
screws and washers that secure the
pneumatic panel to the pneumatic
box.

e Lift the pneumatic panel out of the
box, and from the underside, detach
all tubes and the heater wires that
connect to the analog PCB.

Page 9 of 14



Newport €500 Solenoid PCB Disassembly Guide ID: 134020 - Draft: 2020-07-02

Step 15 — Newport €500 Analog PCB Disassembly

Tube (8)
/ [only one shown)

I J4comnector @
v \

Oxygen sensor

/ cable assembly

Analog

Screw (4)
. Nconnector & Washer (4) <able 2sembty
iR Screw (4
Transducer (4) ) : - j:f"llu / \h - v:;f:e[: (]4)
rhod S Ul =
' T )
oy 2 N P i S J 1
. ._.g“h"ﬁv S : E . e Ul s+t 1 ] Analog
NP ‘-J A ~ cable
5 <& e 1 P
A S 2 5
N G [y
- -]
L Transducer (3) \./
Analog
cable
Analog PCB A gasket (2)

Pneumatic
baox assembly

Step 16

Tube (8)
/ (only one shown)

Oxygen sensor

/ cable assembly

‘;[/ J4 connector T
1 Analog

e Remove the cable from the
connector J1 on the analog PCB.

e Carefully pull the tubes from each of
the seven transducers on the analog

) T —— PCB. Take note of the tubing
Transducer (4) Pin1 - Washer (4) .
- J, connections for re-assembly.

Analog PCB

Analog

Preumatic

This document was generated on 2020-11-28 08:07:09 AM (MST).

© iFixit — CC BY-NC-SA

www.iFixit.com

Page 10 of 14



Newport €500 Solenoid PCB Disassembly Guide ID: 134020 - Draft: 2020-07-02

Step 17

Oxygen sensor

ey, J IR e Disconnect the J4 connector from
Tube (8) | VA
il py DETI S the analog PCB.
; "/ J Screw (4) Analog
5 11 connector Washer (4) cable assembly
Transducer (4 . ”$ :“3: / P;nl Screw (4)
v - N (e
7 SR g

Transducer (3)

Analog
Analog PCB

Pneumatic 1 A
box assembly / <& |l \
s

AR . P
\\\1‘\\%\%-% |

Step 18

Oxygen sensor

e, J R e Remove the four screws and
| onone snovn !,ig  oomedor s, - washers that hold the analog PCB to
s N /“ u gl | “"‘”“e""""xm,& | the pneumatic box assembly.

Transducer (3)

e A [ N H
} . _ “__J;,i;"%;e | \z\j)/p“"e'
IS »“ P SIS :'H‘ / h -3

Analog
cable *
Analog PCB gasket (2)

Preumatic 1 m
box assembly / <& \ 1 e
P | 4

* ] J 2 »\\\
oy
B

This document was generated on 2020-11-28 08:07:09 AM (MST).
© iFixit — CC BY-NC-SA www.iFixit.com Page 11 of 14



Newport €500 Solenoid PCB Disassembly

Oxygen sensor
— / cable assembly
Tube (8) T N
/Eunhfone shown) ‘I[/ J4 connector r}
N N ] Analog
o Screw (4)
., J1connector Washer (4) cable assembly
8 S | Screw (4)
Transducer (4) 4 ¥ ~ ‘?..\ s 4 il
) / %
o \ 3 '11
a 0 * {

Transducer (3)

Pneumatic
box assembly

This document was generated on 2020-11-28 08:07:09 AM (MST).
© iFixit — CC BY-NC-SA

www.iFixit.com

Guide ID: 134020 - Draft: 2020-07-02

e Hold tubing aside and remove
analog PCB from the box assembly.

Page 12 of 14



Newport €500 Solenoid PCB Disassembly Guide ID: 134020 - Draft: 2020-07-02

Step 20 — Newport €500 Solenoid PCB Disassembly

_ g & e Carefully pull the tubes from their
J assembly o D . . . .
S 12l st connections opposite the solenoid
; ~_al® PCB (not directly from the solenoid
Nl PCB). Make note of the tubing
L o SN connections for re-assembly.
12 conrector 3{‘::”“2 assembly  © | “_l, .
J1 connector S~ \ =2 ]
Solencid e g 4
cable panel ¢ £2 o o Bk Y
Solenoid | € Ty z
cable gasket (2} i 2y |
Preumatic e ? i ‘
bax assembly T
S, [ it [l
il (¢S 5 oh b
. {&\ 3 TS
Step 21
_ sgonp £ e Remove the cables from J1 and J2
f FBER O g e on the solenoid PCB.

R A
| - e,
i
. P .
\ \ 1 AR Screw (4)
& Solenoid g

/ Washer (4]
i < cable e |
J2 conrector Screw (4) assembly © -
Washer (4] \\ 3 (=]
J1 connector e N
Solenoid f E}T : 3
cable panel e .9 & o g i &
$ . e L
Solenoid S € L
cable gasket (2} i (o .:,v.
y L
- 8 . ke
Preumatic Ay &
box assembly =
I§ 1
7\ K= p
Ao ; o4 °
v v £ o S
%ﬁ‘\:- I o
% G

This document was generated on 2020-11-28 08:07:09 AM (MST).

© iFixit — CC BY-NC-SA www.iFixit.com Page 13 of 14



Newport €500 Solenoid PCB Disassembly

Step 22

Jet pump
" cable

assembly 5 s
H>G S /Soheneid"cﬁ
\ T =
. il
7% ~i (&
. o A o
\ R Screw (4)
Sﬂlenmd /Washelm]
J2 connector % 3:;'\:;(’4‘2 asyeMbly c | “_L
1r J1 connector
Solencid D' i
cable panel M -y
* e wal
A el
Solenoid . - 4-‘.-'\ gl
cable gasket (2) i’ -y
2 2z
- o v f‘a‘.
Preumatic ]
bax assembly =
S, it
® O 5
" Lo ok T
s - ” b
S “’“"ét % <
-
Jet pump
" cable
assembly B
oG S /So)eneiclpce
2 S
S
i T
: Screw (4)
il | Washer (4]
< le J a b |
12 conrector Scewd)  agembly o ] N L
Washerw \\ 4 (=] e
J1 connector o L
Solencid § E}T g ST
cable panel e .9 & o i &
= 5 ¥ ol -
Solenoid s € LM iprigld
cable gasket (2) i ot
y L
- 8 e
Preumatic <>
box assembly =
I§
-9 4 e p
e ™) - = .
SEH v - =
% G

Guide ID: 134020 - Draft: 2020-07-02

e Remove the four screws and
washers that hold the solenoid PCB
to the pneumatic box assembly.

e Hold the tubing aside and remove
the solenoid PCB from the box
assembly.

To reassemble your device, follow these instructions in reverse order.

This document was generated on 2020-11-28 08:07:09 AM (MST).

© iFixit — CC BY-NC-SA

www.iFixit.com

Page 14 of 14



	Newport e500 Solenoid PCB Disassembly
	Written By: Seth Aguilar
	INTRODUCTION

	TOOLS:
	Step 1 — Newport e500 Top Cover Disassembly
	Step 2
	Step 3
	Step 4 — Newport e500 Exhalation Module Disassembly
	Step 5
	Step 6
	Step 7 — Newport e500 Air and Oxygen Flow Sensors Disassembly
	Step 8
	Step 9
	Step 10
	Step 11 — Newport e500 Pneumatic Panel Disassembly
	Step 12
	Step 13
	Step 14
	Step 15 — Newport e500 Analog PCB Disassembly
	Step 16
	Step 17
	Step 18
	Step 19
	Step 20 — Newport e500 Solenoid PCB Disassembly
	Step 21
	Step 22
	Step 23


